1+snx sin X
(35) I coSX dx _.[Ed +J. de ISSCXdX+J' tan xdx

=Injsecx + tan ¥ + (- Injcosx|) + C

sec X + tan X
STy ealits s e
COSX

= Injsec x(sec x + tan x)| +C

1
37) ft > It dt- [ ot
Fortheflrstlntegral Iet u=t*+40 du=2tdt

J’——In|u|+C:In‘t2 +4+C=In(t* +4)+C,

For thesecond integral, observethat it isin theform of an arctan
(note that you will learn how to compute thisintegral when you learn trig - subsitution)

—larctan£+C2
2 2

1 t
0 dt — dt =In(t? +4) - =arctan— +C
It2+4 It2+4 ( ) 2 2

-1 dt
(39) —dt=[ ——t
lel—(Zt—l)z lelz—(Zt—lz
Note that thisintegral istheformf \/7 =u' arcsm Uic
a‘-u
u=2t-10 %—2
dt
U —larcsm(Zt -)+C
11/12—(2t -1)? 2
tan ©
t . 1 2
41 dt = an—dt
@) [—gtd=[

Letu:gD du:—g2
t t

ig. 2. 1
DI%—ZE{an?dt— 2Itanudu

-f tanudu:—%(—In|cosu|)+C:%In +C

2
COS—
t




